


Section Il
80 marks

Question 21 (4 marks)
Outcomes Assessed: CHI12-5, CHI12-6
Targeted Performance Bands: 3-5

Criteria Marks
e Uses correct chemical equation to calculate ionic product
AND -4
e Compares IP to K, from data table to determine if ppt forms
e Uses correct chemical equation to incorrectly calculate ionic product
AND 3
e Compares IP to Ksp from data table to determine if ppt forms
e Uses incorrect chemical equation to calculate IP
AND 2
e Compares IP to Ksp from data table to determine if ppt forms
e Calculates incorrect IP and states if ppt forms (no reference to data table)
OR 1
e Some relevant information

Sample Answer:

PbCly (s) = Pb*"(aq) +2 Cl' (aq) Ksp=1.2x107

mol Pb>* (aq) = (0.150 L)(0.10 mol Pb>/L) = 0.015 mol
[Pb*]=0.015 mol/0.250 L = 0.060 M

mol CI" (aq) = 0.100 L) (0.20 mol CI/L) = 0.020 mol
[CI]=0.020 mol/0.250 L = 0.080 M

lonic Product, Q = [Pb**][CI]> = (0.060)(0.080)*=3.8 x 10™*

Q > K, so PbCly will precipitate from solution.

Disclaimer

The information contained in this document is intended for the professional assistance of only teaching staff. It does not constitute advice to students.
Further it is not the intention of CSSA to provide specific marking outcomes for all possible CSSA Trial HSC Examination answers. Rather the purpose
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Question 26 (6 marks)

(a) 3 marks

Outcomes Assessed: CHI2-14
Targeted Performance Bands: 2-4

Criteria Marks
e Provides correct structural formulae and names for compound A, B and C 3
e  TWO of the above 2
e ONE of the above 1
Sample Answer:
Compound A - Propan-2-ol Compound B - Propan-1-ol
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(b) 2 marks
Qutcomes Assessed: CHI2-14
Targeted Performance Bands: 2-4
Criteria Marks
e Provides a correctly balanced symbol equation and names the products 2
e  Writes correct equation (states not required)
OR 1

e Names the products

Sample Answer:
C4HsO2 + C3H3O = C7H1402 + H2O (condensed structural formula accepted)

Products — Propyl butanoate and water

Disclaimer
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is to provide teachers with information so that they can better explore, understand and apply HSC marking requirements, as established by the NSW
Education Standards Authority. No guarantee or warranty is made or implied with respect to the application or use of CSSA Trial HSC Examination
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Reaction 1: Acting as a base when extra acid is added
HCOs5 (aq) + H30" (aq) = H,0(1) + H2COs (aq)
Reaction 2: Acting as an acid when base is added
OH (aq) + H2COs (aq) & HCOs (aq) + H20 (aq)
When a small amount of acid is added the hydrogen carbonate reacts to minimise the change in pH.
Reaction 1 will occur.

[f a base is added the carbonic acid will react to minimise the change in pH. Reaction 2 will occur.
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